2 | Solve Inequalities Using Estimation

Name:

1]

Estimate which sign makes the sentence true

6+1075-3

%]

Estimate which sign makes the sentence true

|£J

Estimate which sign makes the sentence true

8—6719-2
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2 | Solve Inequalities Using Estimation

Name:

M

Estimate which sign makes the sentence true

11420 72 17+3

|45

Estimate which sign makes the sentence true

20—-3 7 5+1

@

Estimate which sign makes the sentence true

16 —2 7 2+1
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2 | Solve Inequalities Using Estimation Name:
[]
Estimate which sign makes the sentence true
11-8720—1
< >
B
Estimate which sign makes the sentence true
9413 ? 15419
> <
[#]
Estimate which sign makes the sentence true
12 —-11715—1
> <
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2 | Solve Inequalities Using Estimation

Name:

#10

Estimate which sign makes the sentence true

20-3 7441

#11

Estimate which sign makes the sentence true

8+107 17— 10

#12

Estimate which sign makes the sentence true

1246 ? 5b+2
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2 | Solve Inequalities Using Estimation Answer Key
Question Answer
#1 choice 1
#2 choice 1
#3 choice 2
#4 choice 2
#5 choice 1
#6 choice 2
#7 choice 1
#8 choice 2
#9 choice 2
#10 choice 2
#11 choice 2
#12 choice 2
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